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( ^ )  rft ^*IT5T
»rrf5?rt^ ^  fij 6̂ 'V 

«ffV ^  ^ ?

f5TWT ^  («tV Ho WTo ^ t T l )  :
{ ^ )  I

(^?) 5IVJT I

9 7 4 . «ft f5r«rm STOT? :
«fV T int Tm ^Jxi :
«rt :
^  ^ c \!F  :
«rt .̂O ^?fT«JT :

TO IT^-Vrq iTit
:

( v )  26 1965
19 66 fflTT
Tnr^^TH, s r ^  si^ir ^

^  ( 1) ftrf^ ^  gq^ r, 
( 2 ) ( 3 ) snr WTT ^ r  ( 4 )

i?TTf% irnT^ft Opcf̂

?ftT ^rftq^ ^  ;

( ^ )  ^  ^  ^  'tT t^
f ^  r̂ «T«nr ^

V̂ jTT

( ^ )  WT ®l«IWI ^  ^
T ^  I  i% ^  TTiJff ^
^  q?r qr ?fr if 5r^ « m r

i$r^ ^  îTT̂  ?

^ («ft
fTOTir?^ ^nm ) : ( ^ )  %
?r\TR f^fg ^  ^n^Fift
7 q f^q^ ^  5rr(t ^  i

(w ) wftfjT^lfi

( ’t) ^
q;v ^-^r»rfd ^ kK ftnrr-
fT^r ^  13fr ?nft r«<̂ T<Tt i ^  1 1

r^*y 3TI«H ^  ?lfM«fTTV

9 7 5 . vft VT5fy »If?T :
«5fV ST?fTT? :
«?> 5T^?  ̂ :
^  »T>^ : .
«ft ?5o iTo :

TO Ji  ̂ qai%' ^  i^qr
:

( ^ )  VTT^yXVTT^ ^f^-
♦rff cnrr cT'tt

Vnri^Ttft ^  T̂RT ^  ? |  3T«nT P̂TT fffcfV̂T 
% Tnprf^nr f iir^

srfcRRf ^rftt+TO 5TR^ ^ ;

( ^ )  ^  ?r srfcTW ?rfu-
f̂TTt w r r  5T*̂ IT4f+̂  «FPT ^  ^

t |  f  ?T«nrr r̂ rnrr
STTFT VT^ 5pt sft^gr^  ^ t| |  ?

RJi.TnT H («8tV f^«rT
^rvn 5 T ^ ) ( ^ )  ? fk  ( ^ )
i*H»nad ^  ^  T̂ 't t  zwRnrq
^  ^ T  T?: ^  1

>TTT?r gT W T  f?TinTf V  ?TcTn?r T T S n ^T R  

IT f^T T srn ifT U t

976 . ^  wKvTT HTH i W ; T O
*f ̂ -Vnf ^  IFTT fV :

( t ) To  JT̂  ^  fV 1 9 65-66
if f̂nr?T ^T9TT f^pnff % ?RntcT s T f^

^  pK’fidK ftniT W  «TT ;

( ^ )  ^  1 965 -6 6  if
TfiT^ 5T9Tr ttsiftft if
f%cT% suf^ftRt f̂ l <*̂ dT< ftpqr ’FTT ;
%ftK

(n ) Ir srfJRpff ’!?r




